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Math 111 Contemporary Mathematics Name: M ﬁm
Fall 2015 Compensatio Day 8-Review

Lecturer: Dr. Paullin

Bob, Ned, and Pam are trying to split a bag of Skittles, by placing bids on the group of each

color.

Bob | Ned | Pam

Red | $3y 82 | $2
Orange | $2 | §2 | $3%
Yellow | $1 | $1 | $2

Green | $3%| §1 | $1
Purple | $1 | $2 | $3+

(1) Answer these questions about compensation notation.

(a) Find N,
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(b) Find bNed .
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(¢} Find m, the average bid for the Skittles.
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(2) Random Compensation It is decided that Bob should receive the Red and Green
Skittles; Ned should get the Orange and Purple Skittles, and Pam receives the Yellow
Skittles. Additionally, Bob and Ned must each pay Pam $2 for acquiring more colors.

(a) Determine the values of Tgep, Twed, a0d Tpam- '

_ = “@
X%@bm > -2 = L“a
}{MK@ = /_.;k%mﬂim 2.
K ppn = 2% 2+ 2L

(b) Is this compensation fair?
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(c) Could this compensatlon be Pareto-Optimal?
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(3) Knaster’s Procedure Use Knaster’s Procedure and answer the following questions

| Bob ’ Ned ’ Pam ” ]
Fair Share 3352051 2157
Value of Item Received | /5 | m | & Surplus i)
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(a) Who gets to keep which Skittles?
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(b) Using this method, whét are € Hob) TNeds and = Pam?
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* {c) What is the final settlement for this scenario? ‘
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/ (d) Use youl%suits frol}‘(nﬁg ovc&ng:é fels Proc{ Eaure probiemyto fill in the Percep-
tion chart.
View of Compensation H Bob ‘ Ned Pam
Bob views 4, 17 401 .o
Ned views )77 Q” 2.1}
Pam views E“’E"}f’ Ll =0l
(e} Is this an envy-free arrangement? "
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{f} X/B Fractions the £ fractions for Bob, Ned, and Pam.
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questions, based on the same Skittles bid.

(a) Who gets to keep Whmh Skittles?
%Q@ = Red ¢ Grawo no Sutled fv ned
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(b) Using this method, whatl #re % Boby TNed and 'z pam7

Koo = >332 *w(m& =91, 92
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P X opm = 3,007 + + 2 (4.33)= 5 3
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{5) Adjusted Winner Ned goes home and later Bob and Pam find that they also have
a bag of M&Ms to share. Out of money, they decide to assign point values and use
the Adjusted Winner Method share the candies.

Bob | Pam | Point Ratios

Red 10 | 304 2=73

Orange | 30| 20 |2 =15
Yellow | 154 5 |2 -3
Green | 20y 10 _?,;% .
Blue 5 305 20=ip
Brown | 20y 5 |Z2-1ib
(a) Which color of candy gets shardll betwéen them?
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(b) Set up a transfer equation, and solve for x.
55 4 %(20)= [0+ (1-2){20)
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(i) What percentage of the shared candy does Bob get?
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(il} What percentage of the shared candy does Pam get?
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(c} Distribution of non-shared items.
(i) What non-shared color(s} does Bob get?
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(1) What non-shared color(s) does Pam get?
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